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=F LRSI HEHEE
1. BEsET
D) &%EoIlr T (t=8cm )

L=73.35 (& &) 73.3 m

2) GAEGIWr T B30 A X (t=5em )
L=7.5 () +2. 0 (£ X)=9.5 9.5 m

3) EEE U T 0 AHF X (t=10cm )

L=19.55 (&) +3.75 (hg) X 2X2 (f&F1) =30.16 30.1 m

4) 27 U — MR (t=8cm )
A=1.5 (I8) X1.6 (EX) +1.3 (IF) x2.1 (EX) =5.13

V=5. 13 X0. 08=0. 41 0.4 m3

5) AR AR T (t=8cm )

A=73.35 (&) X7.5 () -5.13 (=7 U— hEB ) =545.00 545.0 m2

6) BhAERR A T MmO AR IXH (t=bem )

A=2. 0 (& &) X 7.5 () =15. 00 15.0 m2

7) SRR T 30 AT X (t=10cm )

A=19.55 (E&) X (7.5 () -3.75 (B&) x3.75 (I§) x1/2x2 (f@) =132.56
T A —TEHEL

A=(19. 55-3. 75) X 0. 25 (1i§) =3. 95m2

V=15. 95m 0. 02m2=0. 319m3 t=10cmffa’& 0. 319/0. 10=3. 19m2

A=132. 56+3. 95+3. 19=139. 70 139.7 m2
8) BiKEH Y T.
A=73.35 (&) X7.5 (M) -5.13 (2> 27 U— R ) +2.0 (B &) X7.5 (I§) =560.00 560.0 m2

9) 27 U — NBaEWR L (i)
V=5.13 (m#4) X0.08 (JEX)=0.41 0.41 m3
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W=0.41 (372k) x2.35 (HLE) =0.96 1.0 t

10) 7 A7 7 )L FpkiERR T
V1 (k&) =545. 00 X 0. 08=43. 60
V2 (F& 9V A7) =15. 00 X 0. 05=0. 75

V3 (4 v {41F)=139. 70 X0. 10=13. 97

43. 60+0. 75+13. 97=58. 32 58.3 m3
W=58.32 (372K) Xx2.35 (HiEE) =137.05 137.0 t

11) #rg B T (AN J7htE 1)

V=0.60 (I8) X0.30 (FHmX) X6.00 (EX) =1.08 1.08 m3

10) 227 U — hakiE LT

V=HUEE T [F4R 1.08 m3
W=1.08 (37K) Xx2.35 (HHE) =2.54 2.5 t

2. [hffEEEE T
1) A g 22 1 BORE 1
L=7.50 (E&) 7.50 m

QBTHbar 7= L (Y=y baryzU—1)

V=0.495 (A1) 0.49 m3

A1=0. 15 (&) X 7.5 (JEE:) X 0. 11 (& &) X 2f& Fr=0. 247 (FE L) 0.24 m3

A1=0. 495+0. 247=0. 742 GEEH) 0.74 m3
3. RUFTE L

DRR EfiE>Y (V4 —%—Y =y b t=bcm)

A=73.35 (E&) X7.5 (f§) =550.13 550. 1 m2

2) R EmirmiEE =27V — b (24-8-25H)

V=73. 45 JEF) X 7.5 () X0.092 (EX) =50. 681 50.68 m3
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FAIBERR SR O AL HAE L Y O &
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FEHAIEL A4 5 018k (D19) D vy F 250mm (B A7 85 1 o I )
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L2 (D19)=1000/250 X 1= 4, Om 0.019 X 7 X 4. 0m=0. 239m2
7.3m 0. 405m2
85 1F 3D A
A=T3.45X7.5X0. 405=223. 10 223.1 m2

figRek D (SD345 D19)
73. 45X 7.5 X 4. 0m=2203. 5m 2203. 5X 2. 25Kg/m=4. 9581t

4. 958X 30% (£ EfH)=1. 487t 1.487 t

4) $Ef5 448 (D6-100X 100 A » 3/ =)

A=73.45 (EX) X7.5 (I8) =550.88 550. 8
5) PR T
N TP R— V=74.6 (FEX) X3.4 (I§) X2.00 (& X) =507.28 507.2 ZEm3

6) =7 U — bkiEik T

V=73.35 (&) X7.5 (&) X0.05 (JB&) =27.51 27.5 m3
W=27.51 (372k) X2.35 (HiE) =64.65 64.6 t

4. RIR TEMETL
D) TEAM BB R
B H—T. HEE5~8mm
(PR O
L=74.0 (E&) X10 (B)) X2 (f#7) =1480 1480.0 m
(R HA PR RO
L=74.6 (R &) X (3+2) (f&ipr) =373 373.0 m

ait 1853.0 m
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2) T HALER i EAKE T b

(L AR

A=74.0 (E&) X (3.070 (L) +3. 035 (&A1) (hE) =451. 77 451.7 m2
(3R H R ARO)

A=74.6 (J£&) % (0.525 (JLAND +1. 01 (4MAD))  (hE) =114. 51 114.5 m2
it 566.2 m2
3) MRk A A 1B T D6-50 X 50

(Ffi 5/ t=18mm)

A=4.45 (R&) X3.07 (&) X2 (f&fr) +4.65 (F&X) X3.07 (#@) X9 (f&7r)

+4.65 (B&) X3.035 (IF) X7 (f&ifF) =254.59 254.5 m2
(3R R AR

A=74.6 (&) X (0.525+1.01) (%) =114.51 114.5 m2
At 369.0 m2
(F#JE  t=22mm) DI10X50  D6X50

(Hh AR

A=4.45 (F &) X3.035 (fE) X2 (f&F7) +4.65 (KBX) X3.035 (b)) X7 (F&AT)

+4.65 (&) X3.07 () X5 (f&pr) =197.18 197.1 m2
4T I — % T —/3—ff THL ¢ 8X60mm

(HFE R )

n=74.0/0. 3 (& v F)+1=248

N=248 (4T) X11 (F) X2 (f&fT) =5456 5456 A
(3R H RSO

n=74.6/0.3 (& > F)+1=250

N=250 (T) X (4+3) (¥1]) =1750 1750 A
At 7206 K

5) IR IEASGR BATR 7 — /3= TR ¢ 8X60mm
(h LA

n=74.0/0. 6 (> F)=1241T n=74.0/0.6(E >~ F)-1=1231T
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N=(124 (17) X5 (%) +123(1T) X5(F)) X2 (f&fr) =2470 2470 A
(3R H PR RO

n=74.6/0.6 (&> F)=125 n=74.6/0.6 ("> F)-1=124

N=(125 (17) x2 (Fl) +124 (7) X 1(31))=374

N=(125 (4T) X1 (B]) +124 (47) X1 (%1))=249

374+249=623 623 A
At 3093 A
6) B g b4 A1 M7 A ~—

(PR IO

A=74.0 (£&) X (3.070+3.035) (f&) =451.77 451.7 m2
(3R H PR RO

A=74.6 (£ &) x(0.525+1.01) (%) =114.51 114.5 m2
At 566.2 m2
) MtERtE 7 A =2 7= (ffi78/E  t=18mm)

(ffi58/=  t=18mm)

A=4.45 (X)) x3.07 (I8) X2 (fF7) +4.65 (E&) x3.07 () %9 (D)

+4.65 (K&) X3.035 (fF) X7 (&) =254.59 254.5 m2
(B HPR )

A=T4.6 (&) % (0.525+1.01) (i) =114.51 114.5 m2
At 369.0 m2
(M7= t=22mm) DI10X50  D6X50

(PR O

A=4.45 (& &) Xx3.035 (fE) X2 (fHfT) +4.65 (RS) X3.035 (b)) X7 (F&7T)

+4.65 (&) X3.07 (&) X5 (@) =197.18 197.1 m2
8) ODUMEINIEA ARG BE = AN & S Mt

CIZSi)

A=74.0 (£&) X (3.070+3.035) (f&) =451.77 451.7 m2
(R HA PR RO
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A=74.6 (EX) x(0.525+1.01) (&) =114.51 114.5 m2

&t 566.2 m2

9) Fmifth B e S A = 7 a— i

(R ARRR)

A=74.0 (EX) X (3.070+3.035) (fi§) =451.77 451.7 m2

(3R R RR)

A=74.6 (EX) x(0.525+1.01) (f§) =114.51 114.5 m2

&t 566.2 m2

10) AKHIE%E T. (BEPVC) L= 74.6 (&) X2 (f577) =149. 20 149.2 m
5. HEMET

1) HEBE 43T T (24-8-40BB)

V=0.60 (@) X0.30 (H&) X6.00 (FX) =1.08 1.08 m3

2) BT

A=0.39 (18) X6.00 (EX) X2 (#) =3.60 3.6 m2

3)KBHM (S¥A 7 H40 L=1.20m)

N= 2.0 A

4KBARNLZ— (IEFTH Y - 48 )

L=4 (f#) X2 (f%Fr) =8.0 8.0 &

5) AR (t=1.0X80X220 1fHFT4 Y : 2K )

L=2 (o) X2f&pT=4.0 4.0 K

6. FEmBLAK T
DEEKIHBE( VX R) FTHAET - VI 4 ~—1L - KL
L=74. 60-0. 80 (12 4T HCo) -0. 30 (12 4T HCo) =73. 50

A=73.5X (7.5+0. 06+0. 06) +7. 5X (0. 06+0. 06) =560. 97 560.9 m2

2) BRI T
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A=73. 50X 7.50=551. 25

3) Pk TimAd (BBIER) Hamd 0 AT

A=2.0X (7.5+0. 06+0. 06) +7. 5 X (0. 06+0. 06)=16. 14

4)EKINA T ( 18mmAT > L R)

T Ui 5 1) L=73.50 (5&) X2+2.0 (£&) X2 (FEHr) =151.00
e B A4 5 1) L=7.5 () x2 (&P =15.0
At

BYAT T KL —v (FV&y 77 WF2=7" L=3. 4m)
L=3. 4m X 3{& FF=10. 2m
TR UG

N=0. 35Kg X 3f& Fir=1. 05

7. B E L

DEET. M EZE ¢ 101.6

W= 10. 1 (Kg/m) X (1. 40+0. 25) (- X)=16. 67

2) LIRS

A= 0.1016 (EFR) X3.14X (1.40+0.25) (EX) =0.53
3) Gl T

L= 0.0891 (X&) X3.14xX2 (f5p7) X2 (AK) =1.12
4) RET

L= 0.1016 (EHEE) X3.14X2 (Fpr) X2 (&) =1.28

=T
1) FEmfE (Y OB R EEAs20F t=6cm )

A=73.50 (&) X7.5 (Ig) +2.0 (B &) X7.5 (l§) =566.25

2) T AT IR (R SCE TRERLE t=5em )
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m2

16. 1

m2

151.0

15.0

166. 0

10. 2

Kg

16. 67

Kg

0.53

m2

1.1

1.2

566. 2
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A=19.70 (E&X) X7.5 () -3.75 (&) X3.75 (@) X1/2X2 (&) =133.69
A=(19. 70-3. 75) X 0. 25=3. 99 (7 A H—7)

133. 69+3. 99=137. 29137. 68 137.6 m2

T 0T EEmERE (B HKIEAs20 t=5cm )
A=19.70 (EX) X7.5 (fg) -3.75 (E&X) x3.75 (fg) X1/2X2 (f&Fr) =133.69
A=(19. 70-3. 75) X0.25=3.99 (7 A 1 —7)

133. 69+3. 99=137. 29137. 68 137.6 m2

490 AR (REIE )
A=19.55 (B &) X7.5 (i) -3.75 (&&) x3.75 (@) X1/2x2 (f§p7) =132.56
A=(19. 55-3. 75) X 0. 25=3. 95(7 A /1 —7)

132. 56+3. 95=136. 51 136.5 m2

5) 7 A5 —7 (W=23cm)

L=19. 70-3. 75=15. 95 15.9 m

9. XIEIMRERE L
1) Xm#E AR 15em BHEEC BAE mEG SMAKRE A

L= (15.95+0. 30+74. 60+0. 80+2.0) (F &) X2 (A) =187.30 187.3 m

2) KH#E  FEHE  30cm H#ER A A oy e
L= (19.70+0.30+74.6+0.80+2.0) (E &) X1 (&) =97.40 97.4 m

3) XERE A 15em HHEEN  BEHIT B
L1(Frge)= (19.70+0. 30+74. 60+0. 80+2.0) (E &) X0.5 (F&#R) =48.70

L2 (4MAD = (15.95+0. 30+74. 60+0. 80+2.0) (E ) X0.5 (flfE) =46.83

48. 70+46. 83=95. 53 95.5 m
10. fRg% L
DRSS L
XE & v A=8.70 (M) X (34.7+34.9) (£ X) =605.52 605.5 fHm2
2) HEA
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X[ & 9

3) B R T

4) BR B T

4) > — boRB R T

A=3.5 (BE) X74.6 (EX) X2 (fpr) =522.20 522.2 Hm2

A=3.40 (#g) X (37.0+37.0) (F &) X2 (f&Fr) =503. 20 (FFRIAMR)
A=(1.1+0. 8) /2 (1F) X 74. 6 (& &) X 2 (F&FT) =141. 74 GRHKE/R)

503. 20+141. 74=644. 94 644.9 Fm2

A=8.70 (M) X (34.7+34.9) (E &) =605.52(HEH)
A1=0. 25 (FRIE) X 8Hr X (37. 0+37. 0)=148. 00 (F I K R)
A2=0. 25 (B 1iE) X 44 X 74. 6 (F &) =74. 60 (GEH KRR

605. 52+148. 00+74. 60=828. 12 828.1 #m2

A=605. 52+522. 20=1127. 72 1127.7 $m2

9/9



